Bronze

number?

1a. Which representation is the greatest

a. b.
44 489
41,000 |500 |89

2a. True or false?

w
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correct.
< <

3a. Add the letters to make the statement

2a. Megan ha: ordered the following
numbers in ascending order.

41,000 | 500 |7&

b. 41,382

d. 43,102

I: Megan correct? Explain your answer.

w

10,000
52,487

1,000|615

50,000

w

B

when these numbers are placed in
ascending order.

da. Circle the nhumber that would be third

a. b.
28,485 28,954

3qa. Add four counters to the place value
chart to make the statement still correct.
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Find three different pos:sibilities.




Silver

5a. Which representation is the greatest

number?

a.

49,000 |1,500/2
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@
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@

Fifty-two
thousand, four
hundred and
hine.

(510

4a. True or false?

Seventy-four TTh T H T O
thousand, nlne = : : = = ® = ®
hundred and © o0 o0

ﬁ four ® ®

7a. Add the letters to make the statement

correct.
<

5a. Charlie has ordered the following

numbers in ascending order.

75,000 (2.310]65

b. 79,210

- 75,800
-
' 'l"\.\_\__

Seventy-six thovsand, four hundred

“and twenty-five.

Iz Charlie correct? Explain your answer.

L=1

Fifty-nine
thouzand, eight
hundred and szix.

@

Y

55,000

2,700( ¢

w.

lnunn . 10,000

8a. Circle the number that would be
fourth when these numbers are placed in

ascending order.

f A

‘a. Thirty-one b.
thousand, three 30,791
 hundred and four ] | y
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ba. Add four counters to the place value
chart to make the statement still correct.

000

Th| T | H o)
Sixty-four ooeoee® Y]
s> @0 @0 |@@
and twenty- - X ]
five

Find three different possibilities.




Gold

9a. Which representation is the greatest
number?

a. b. Fifty-one
thousand and

eighteen tens.

20
hundreds 18

@
oo

49,000

K

I}DDH

10,000

.@

10a. True or false?

o

Sixty-nine TTh T H T
thousand == == ® ®

and eleven ~ o0 00

tens
: [ X
@
11a. Add the lefters to make the
statement correct.
<,

"|Forty-one thousand,
six hundred and
sixteen tens.

@.

40,204

MMCCC |25

.
nmu

8a. Amelia has ordered the following
numbers in ascending order.

446,000 1.100] 24 tens

b. 48,210
c 'l{#__
e
T

Sixty-seven thousand, seventeen
d. hundreds and fifty-nine
I: Amelia correct? Explain your answer.

12a. Circle the number that would be
third when these numbers are placed in
ascending order.

(a. Fifty thousand, | (b.
two hundred and
six tens L

50,216

o

7a. Using only four counters place them in
twe different celumns to make the
statement still correct.

0 00

TTh| T H T (8]
Fiffty-eighi YY) o I Y )
th d,
rcu;];'l-lsﬁgled - 0 Qe @
and ninety- e &P
two tens. o9

Find three different possibilities.



Challenge

1. Kevin and Imogen are playing a computer game. They are creating patterns using
the different characters below and then converting them into five-digit numbers.

Each character's value is between 0-9 but must follow a rule. They also cannot use the

same number more than once per round.
;-ﬂ

is ? ‘:': e

Multiple of 3 Less than 5 Odd number Even number Greater than 5

Kevin has won all 3 rounds by creating a larger number than Imogen. These are their
patterns:

Kevin's pattern Imogen’s pattern
st [ 55 [k B
Round 2 Qﬁﬁ" % % % AFF¥s
Round 3 Ju#\*ﬁ i’\‘ QE i" ~m s A

Explore the different possible numbers both players could have made in each round.




